) THI6EFE4A GES F16%5H & f6%6H 5T
EMYEDIESE % A W= |WAEX| H = |dEIFEk| %% SR SEIEE | %% SRS SR
kg % kg % kg % % % %
KEI—+E of -———- of ——- of ——| o -—— o -— o] -——-
FRKEI—FEBM 13,921 136.5 13,921 136.5 13,553 834 103.8 36.6 76.9
H) 13,921 136.5 13,921 136.5 13,553 83.4 103.8 36.6 76.9




] ‘ SF6FETH THEE SF6FE8H 8HEET 69 H FEESN
BHMEDIESE B E |[doiEk] & & [deiEk] % & [XWuEh|] &% & [xuEk] % = [xaEk| % = | da&Ek
kg % kg % kg % kg % kg % kg %
o] -—— o] -—— 0| -——- o] -——— 0| -———- o] -——
AEI—+EBRE 10,540 73.6 44,482 76.1 6,466 53.7 50,948 72.3 12,358 105.9 63,306 77.0
10,540 73.6 44,482 76.1 6,466 53.7 50,948 72.3 12,358 105.9 63,306 77.0




. ] SHI6FE108 108 &5t SHI65F11H 118 &5t SHI65E12H 128 &5t
EMMEDIESR #E |xaEER| = |XAER| H = (HAFEk| H = [(SuEkk| % =2 | dEiFEkk| #H = | <EiELE
kg % kg % kg % kg % kg % kg %
o ———— 0| ———— o] ——— o ——— o] ——— o ————
REI—+ELEE 10,721 55.1 74,027 72.8 10,617 81.6 84,644 73.8 12,417 236.7 97,061 81.0
10,721 55.1 74,027 72.8 10,617 81.6 84,644 73.8 12,417 236.7 97,061 81.0




] ‘ SMIE1R I ESS SMIE28 EENS SMTE3R REE S
EMYEDIESE = SRS = SETELL o= SRS = SETELL = SR = SATEL
kg % kg % kg % kg % kg % kg %
0| -—— 0| -—-— o] —-- 0| -—-— o] —- 0| -—-—
RKEI—FERFE 6,115 85.2 103,176 81.2 6,959 717.7 110,135 81.0 9,068 60.1 119,203 78.9
6,115 85.2 103,176 81.2 6,959 77.7 110,135 81.0 9,068 60.1 119,203 78.9




